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~vii)  Question numbers 20 to 24 in Section-A are five marks questions.

These are to be answered in about 70 words each.

(viii) Question numbers 25 to 42 in Section-B are multiple choice
questions based on practical skills. Each question is a one mark

question. You are to select one most appropriate response out of the

four provided to you.
qAW-A
Section-A
1. aﬂgﬁ%ﬁﬁﬁﬂﬁﬂﬁﬁ%&ﬁfﬂ?ﬁtﬁ%aﬂimwm% 1
How many vertical columns are there in the modem periodic table and what
are they called ?
2. ifdIgWER I E? ]

What is speciation?

3. - A sre- Pl erfEt w9 guw FSTH § A B
=Mee ¢ 1

Why should biodegradable and non-biodegradable wastes be discarded in

two separate dust bins ?

4 “Sifier SEE FR I St % SHET TE ST Gaft § TOrgE sh e @A
et 21" 39 e s e AT 2

“The chromosomes number of the sexually reproducing parents and their

offspring is the same.” Justify this statement.

31/1/1 3 [P.T.O.
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et oft w3 gu i SRR wie W ST 1 TS R T e
79 % TR Frfa Bt 81 79w S O 3 o wited e RRT s
difem)

“A ray of light incident on a rectangular glass slab immersed in any
medium emerges parallel to itself.” Draw labelled ray diagram to justify the

statement.

T T ST i o) R i e St e an Sa § | 9
9 gAY SR g Wit ag el & ot w5 sgvgs fiwew
RIieR % fog grfe 21

We often observe domestic waste decomposing in the bylanes of residential
colonies. Suggest ways to make people realise that the improper disposal

of waste is harmful to the environment.

HTHRTRI TR T ST HIE0 & Hefg, &1 T 367 Gt ST St ST i

List and explain any two advantages associated with water harvesting at

community level.

QAT T SR Wi H,S0, § 443 K 0% 7 sy o2 59 91et ST =61 7 a0
IHeRT HLeHT-T fafag | ﬁﬁﬂ%ﬁ%ﬂﬁ@ﬁﬁﬁ?ﬂaﬂmﬁml
B STt STffsR w1 e e fafan

Write the name and the structural formula of the compound formed when
ethanol is heated at 443 K with excess of conc. H,SO,. State the role of

conc. H,SO, in this reaction. Write chemical equation for the reaction.
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31/1/1

e o TR o6t qosrey Aft il 7% 1 i fem e 27 el el Ao
%awwaawmﬁmqg%qamsqﬁﬁﬁﬁ%mwﬁmm
<RSI St 3735 (i) aftferes orend (if) e orend frefie e §)

Why homologous series of carbon compounds are so called? Write
chemical formula of two consecutive members of a homologous series and

state the part of these compounds that determines their (i) physical

properties, and (ii) chemical properties.

aﬁ%m&rﬁamﬁwﬁ%@mﬁqm%;
4Be, gFe, 14Si, oK, ,,Ca

(i) Eﬁﬁ%mﬂﬁqﬁﬁmﬁmﬁwsﬁ%ﬁ%wwmw
ESEAIEENCE AT Te

() T & o g 35 2 e 2 gfve ) or s
(iii) maﬁﬁﬁ@rwmﬁ%a}m%ﬁmﬁﬁaﬁiﬁmm
e ST ?

Given below are some elements of the modern periodic table :

aBe, gFe, 1481, 19K, ,oCa

(1) Select the element that has one electron in the outermost shell and

write its electronic configuration.

(i)  Select two elements that belong to the same group. Give reason for

your answer.

(i) ~ Select two elements that belong to the same period. Which one of

the two has bigger atomic size ?

5 [P.T.O.
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11, 3NYfeh 3frerd Al & stmeat s we fftan | Rt amed 3 ol & 2rf ol s
R el ol GTSTeRaT @ e1feses ore 3§ Reg v aRerd B 27 Torelt T o
f=t ST T2 st 3t TSRl qoT ST 3 e Yenr aiad 2 &7
Write the number of periods the modern periodic table has. How do the
valency and metallic character of elements vary on moving from left to

right in a period ? How do the valency and atomic size of elements vary

down a group ?

12.  (a) AR H GeGNEH (TS ) R o s iR |
(b)  TTRGHS ohl WishaT S © forg v i & 72

(@)  Explain the process of regeneration in Planaria.

(b)  How is regeneration different from reproduction ?

13. (i) 93%®, 991 (i) ST 9@ & §R g9 9Tt ar-a) S g=id O ¥ T
%@inﬁﬁq%mw%ﬁﬁ%mﬁﬁmﬂm%ﬁm?

Write two examples each of sexually transmitted diseases caused by
(i) virus, (ii) bacteria. Explain how the transmission of such diseases be

prevented ?

14. 3G weml qan g vt § Rie w0 ol @ R
qfcTehTsIg, 1T | Sedieh SAeur sh Uek Jarexl oft €1 |

Tabulate two distinguishing features between acquired traits and inherited

traits with one example of each.

31/1/1 6
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15, ““forell oA gy w1 o A W R e seen! (A @ ) & @ Rt @) o
58 ToTq Iaearlt et W S wemar |7 femelt et gy o6 fomt Frerfor 6 wfgn
=1 EH ATt T8 3TRE 3h! TERIaT & 390 9 i gfY iR ' 3

“The sex of a newborn child is a matter of chance and none of the parents
may be considered responsible for it.” Justify this statement with the help

of flow chart showing determination of sex of a newborn.

16. (i) T¥F 97 TN, FT (ii) Rfem gdont & s frw S Ao adur & weER
SETE IS | ek FEhoT & 379 I St 4f 3 forw & shmeott <ht wht sy 3

Mention the types of mirrors used as (i) rear view mirrors, (ii) shaving

mirrors. List two reasons to justify your answers in each case.

17. 6 cm S9TE %1 1§ o 5 om Biew g % el srae 3w % oo o F
TG o W 10 em g R TR & | elw-gm @ ST ek S 5N S e
s < R, et wd Wy Rruffe i 3
An object of height 6 cm is placed perpendicular to the principal axis of a
concave lens of focal length 5 cm. Use lens formula to determine the

position, size and nature of the image if the distance of the object from the

lens is 10 cm.

18.  ied /gt qun QU % qud g & 7l o= B 7 Seoh HIRT | Yo &
fore = Sifs | 3

State the difference in colours of the sun observed during sunrise/sunset

and noon. Give explanation for each.

31/1/1 7 | [P.T.O.




19.

20.

21.

31/111

(a)
(b)

(a)
(b)

(2)
(b)

(c)

(2)
(®)

©

(a)

(b)

(b)

ZoNo

ITI SRT 27 S S THE 2! shi =i aE |

T qTeTE E e hl TS e e, Toeg Srerstiarstren i fafia T
) ShY STTETTIRAT BIel! ¢ | UHT 41 8 ST shifor |

What is an ecosystem ? List its two main components.

We do not clean ponds or lakes, but an aquarium needs to be cleaned

regularly. Explain.

“woTEEE st g ey |
Fﬂﬁﬁﬁﬁﬁﬁuﬁrmzﬁgmo%%aﬁmﬁam%ﬁw
iRt 37 fafau |

Ui ST ARt Y e -forg S Eite

Define the term “isomers’.

Draw two possible isomers of the compound with molecular formula

C3HsO and write their names.

Give the electron dot structures of the above two compounds.

AfiTen qe STt fites Yo & S 1 e o6 arel i areqon (fersiematt)
! =it AT
AT ShIE o6 SR St g0 Seaet Hafer o fafsmeand =0 fees 3 2 7

List three distinguishing features between sexual and asexual types

of reproduction.

Explain why variations are observed in the offsprings of sexually

reproducing organisms?




EONG-

22. (a) Tumufmd A B TAT C ! TE=THY TR 3% &1 ferfau)
(b) ﬁmwwa@ﬁﬁwamwﬁ@mmmw:
@) 1’@1

(a)  Identify A, B and C in the given diagram and write their functions.

(b)  Mention the role of gamete and zygote in sexually reproducing

organisms.

31/1/1 9 [P.T.O.




23.  (a)

(b)

(a)

(b)

24. (a)

(b)

SHLA

400@

THRT o YA o IA @ Ioei shifera| foRelt mem % e
YT GUT YRS 1 Frata § et & o9 999 ) 29 aren el

TeTfay |

Y o I ST GAT 1< o TR A 4/3 91 3/2 | AR FE T
TR T W 2x10° ms™! B, A (i) 90, (i) T ¥ v ) = 7

Hiivg |

State the laws of refraction of light. Give an expression to relate the

absolute refractive index of a medium with speed of light in vacuum.

The refractive indices of water and glass with respect to air are 4/3
and 3/2 respectively. If the speed of light in glass is 2x10* ms™, find
the speed of light in (i) air, (ii) water.

1 AR O 41§ 50 om ¥ FH gl W Rem g9mER @ A6 16
T | 39 giE-a W A fafay ed ug =i difsa @1 sw S A
SR o g s foreor eiw wifw) 5@ @ % @) e e
Gl TS | ToRET ST i 13U Sk 39 SN 1 G R TR
TearT ST HehaT 7, 39 g 6 oy femor e wiiferg

TH FHIER W UF Seifes W A9-2 O geiid a9 e § 1 59 TR
= Tt =1 weee foifa

A person cannot read newspaper placed nearer than 50 cm from his
eyes. Name the defect of vision he is suffering from. Draw a ray
diagram to illustrate this defect. List its two possible causes. Draw a
ray diagram to show how this defect may be corrected using a lens

of appropriate focal length.

10
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(b) We see advertisements for eye donation on television or in

newspapers. Write the importance of such advertisements.

-9

Section-B

25. IS BE FoRET Y56 WEAE! # 2 mL TEIfEe- 3T SR SaE U ekt wifeam
BTEgISH Hrei-e fHama 3 | a8 Frfafaa Jem s g 1

L o e  are o OTd o e T Pt 2
L 38 9 o T H TR T W 33 gREm R St 7|

I <9 &3 Sad! B9 @ W % g o1 & @ 98 W e & g9y
T 2 |

IV. 87, ST Sierd et e 9raeh 3 e S 2 o <9 g et 2 |
EEREER R

(A) LI 3R I

(B) ILIIARIV

(C) I IV 3RI

(D) IV,I3RII

31/11 11 [P.T.O.
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26.

AN

A student takes 2 mL acetic acid in a dry test tube and adds a pinch of

sodium hydrogen carbonate to it. He makes the following observations :
L A colourless and odourless gas evolves with a brisk effervescence.
II. The gas turns lime water milky when passed through it.

III. The gas burns with an explosion when a burning splinter is brought

near it.

IV. The gas extinguishes the burning splinter that is brought near it.
The correct observations are : |

(A) LII,and III

(B) ILITandIV

(C) ULIVandI

(D) IV,landI

Aeitfom ot % TR 1 SR e % TRl TR # g Tl T R
TeETeR 3 STV 2 mil U TR il € | 9 $9 e 8 TN 2 mL St
e o S SR e | wwe ¥ % o6 o e At R R

(A) Wwwﬁmzﬁw%
(B) FrerM goshl Hadl T &1 T |

(€) it YT S o g8 WA T & |
(D) Ui ol 9 % I8 WA @I T

12
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In an experiment to study the properties of acetic acid a student takes about
2 mL of acetic acid in a dry test tube. He adds about 2 mL of water to it and

shakes the test tube well. He is likely to observe that :
(A) the acetic acid dissolves readily in water

(B) the solution becomes light orange

(C)  water floats over the surface of acetic acid

(D) acetic acid floats over the surface of water

27. e o 3 T o ¥ oY W e 7 20% OifeTm gegianrse foerE s
36 g e Fory T e dapor = fRu T E | 1

I wifeam ergiemme T & 8 T |

1. 98 Sl A iy o S 2|

M. STl ) W ie 381 Wefia g g |

IV. e foreme & o forens o w1 ger o 78 39 A F A g |
T T T

(A) LIFII

(B) ILIIFIV

(C) NLIVII

(D) LILIIV

31/111 13 [P.T.O.
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A student prepared 20% sodium hydroxide solution in a beaker containing

water. The observations noted by him are given below.

L. Sodium hydroxide is in the form of pellets.

II. It dissolves in water rea@ily.

III.  The beaker appears cold when touched from outside.

IV.  The red litmus paper turns blue when dipped into the solution.

The corect observation are :
(A) L ITandIII

(B) ILHOIandIV

(C©) I, IVandlI

(D) LILandIV

28. Timaferiaa sl =1 eream iR

L syt srfwisean o srfvrfsmen-fasm & ot forena oo gon w s e
ST & G TE SOATET ST & |

L gt srfifeeen o sttt - & fon foemg o gam wsws o
 ufterd =21 grar qen 78 e sl 2

1. wrgHTeRtr stffsman o ﬁ%—ﬁwﬁw%mmgﬁﬁmmw
o uiterd T St au 7 S s )

IV.  wrgteRtr afsifshan o srfufsman- s & ien R o gar w s
B qiterd g1 i qor 78 i i 3 |

31/1/1 14
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SRR B H AT HOE
(A) 1@

(B) II@TIII

(C) AV

(D) IdaIV

Read the following statements :

I1.

I1I.

IV.

When a red litmus paper is dipped into reaction mixture of a

saponification reaction, it turns blue and the reaction is exothermic.’

When a blue litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

exothermic.

When a red litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

endothermic.

When a blue litmus paper is dipped into reaction mixture of a
saponification reaction, its colour does not change and the reaction is

endothermic.

Which of the above statements are correct :

(A)
(B)
©

(D)

Tand I1
IT and IIT
IITIand IV

ILand IV

15 [P.T.O.
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ToRE ST ) S o ToTU STTErTaeh o ST TRat h FERTSITE § 39ereY ) 3 |
T SR # 1 T e Suerey § 1 39 @@t i g e st | dier
T AT o AT SATIwIeh TR wiel & S |

(1)
(3)
()
(A)
(B)
(©)
(D)

Fichan gethe (2)
Fichan weiEs (4)
ey EEgISH FEie (6)

1,294
1,396
3,596

2,495

Hifeam Tehe

TR Tethe
T ifEm Fess

Hard water required for an experiment is not available in a school

laboratory. However, following salts are available in the laboratory. Select

the salts which may be dissolved in water to make it hard for the

experiment.

(1)  Calcium Sulphate (2)
(3) Calcium Chloride (4)
(5)  Sodium Hydrogen Carbonate (6)
(A) 1,2and4

(B) 1,3and6

(C) 3,5and6

(D) 2,4and5

16

Sodium Sulphate
Potassium Sulphate

Magnesium Chloride
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et o 3 o ami Tgem fore e areg o sl T i X2 o 5 ue
-3* T e TR | 9 98 ol 3| g A gl 40 cm ®, 9 FEaRad A 9 W e
gHT|

|

Me—40cm— -}

(A) R X 39 o 2, ol Biew 3l 20 em ® |

(B) Il X ereraet U & el wiwa g 40 cm € |

(C) I X ergact gdur 2 Foresht agrar Brsa1 40 cm 2|

(D) I X Iaa e & el wrepa gt 40 cm %1 1

A student focussed the image of a distant object using a device ‘X’ on a
white screen ‘S’ as shown in the figure. If the distance of the screen from
the device is 40 cm, select the correct statement about the device.

’]«——w—40 cm—s

(A) The device X is a convex lens of focal length 20 cm.
(B) The device X is a concave mirror of focal length 40 cm.
(C) The device X is a concave mirror of radius of curvature 40 cm.

(D) The device X is a convex lens of focal length 40 cm.

17 [P.T.O.
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31, ol w1 sraae ador g -2 % g RR T v e ) sare
o1 <freon gfferear o w e forem | afor i wiee g0 6T S TR sTeEt U T e %
Ty frerer weiew 3 3 welwify el et gt e =) wisi %@ &1
AT 11 | 36 ST ol AT A7 =150 7

(A) 39 U R ¢ T G TSHET =Y

(B) 39 TUU AT AIST TS i 3T TR =R |

(C) 8 THwr T 4e M1 1 27a T T T fores oY SR TR =Ry
(D) 39 A U< I 37 T T U fare i TR T =R |

A student obtained a sharp image of a buming candle, placed at the
farther end of a laboratory table, on a screen using a concave mirror. For
getting better value of focal Iength of the mirror, the subject teacher

suggested him for focussing a well illuminated distant object. What should

the student do?
(A) He should move the mirror away from the screen.
(B)  He should move the mirror slightly towards the screen.

(C)  He should move the mirror as well as the screen towards the newly

selected object.

(D)  He should move only the screen towards the newly selected object.

31/1/1
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31/1/1

40/0@

=t fou s1gar arferen & Fie & -
HH & i Lr Le
I 30° 20° 31°
il 40° 250 40°
IIT 50° 31° 49°
= ud Jer g
(A) 1911
(B) TIIFII
(C) IaII

(D) LIS

After tracing the path of rays of light through a glass slab for three different

angles of incidence, a student measured the corresponding values angle of

refraction » and angle of emergence e and recorded them in the table given

below :
S. No. 1 L Le
I 302 209 1R
II 40° 25° 40°
I 50° 31° 49°
19

[P.T.O.
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:

s The correct observations are :
| (A) TandlIl

(B) IandIII

(C) TandlI

(D) LII andIII

33, i STETERR W & TR ATl e R B 9 STRRe s b fae i
< Tt srareenatt A @ wdeE e HE Wl 87 T

e —@—

@ (D

/

(110) Iv)

A I
@®) I
(C) I
D) IV

31/1/1 20
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Select from the following the best set-up for tracing the path of a ray of

light through a rectangular glass slab :

(A)
(B)
©
(D)

@

/

II

I

IV

(1I0)

21

e B—@

()

Iv)

[P.T.O.
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34. = o BoH ¥ TR 9T JeRreT foReor 61 99 STRAET A T TN o e
TR BT Y 1y sra! § st e aen fka B ¥ gy 99 Rt @

<31 |

@

N

(IIT)

TTH T ToRT0T o1 ) 09 ST ST TR £
(A) 1

B) 1I

(©) 1

D) IV

31/1A % 22
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eriment to trace the path of a ray of light passing

While performing the exp
incident ray and the

through a glass prism, four students marked the

emergent ray in their diagrams in the manner shown below.

(110

The correct path of the rays has been shown by :

@A) I
@|) I
(€ I
D) IV
31/1/1 73




35.

31/1/1

40/@)

ST 1 35 35 e 35 B & et e s o
aﬁ@am%mﬁﬁm%ﬁwm%ﬁ%m:

(A)  oTafaa foror 3 waT=R 3|
(B)  muferd fomor o ervaa &
(C) vt foror & e &
(D) m%ammﬁﬁsnﬁ%mﬁvmww%f

In an experiment to trace the path of a ray of light through a glass prism for
different values of angle of incidence a student would find that the

emergent ray :

(A)  is parallel to the incident ray

(B)  perpendicular to the incident ray
(C)  isparallel to the refracted ray

(D)  bends at an angle to the direction of incident ray

24
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40]8@

frerferiaa fro smE! o TwrE HilT

3 i@l F gAY REl S A R % T TR R ad e gwiEn

TR

(A) FHaS I
(B) HaA@IFII
(©) L4l
(D) LIIaIV

[P.T.O.
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Study the following ray diagrams :

a =g \‘/ 1':2
Iv) /F1 y Fz\

The diagrams showing the correct path of the ray after passing through the

L]

lens are :

(A) IIand III only
(B) IandIl only
(C) LIandIII
(D) LIOandIV

26
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Zono

TR & Tirelt T ute smafoe fement @ @ 37 fiF RRT @ gie S eTee %
Frermt =1 arer FR @ § 3R Rt 3uein Sue S SR o9 Wit 6 fedrfa 3@
U T ST aehaT B 1

@M\/ _
2F, 4 [ M
W Fody

(A) 1,293
(B) 2,394
(C) 3,495
(D) 1,294

Out of the five incident rays shown in the figure find the three rays that are
obeying the laws of refraction and may be used for locating the position of

image formed by a convex lens :

2F, ‘ 4 | (WZ

(A) 1,2and3
(B) 2,3and4
(C) 3,4and5
(D) 1,2and4

27 [P.T.O.
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arfan 1 frgve 3 fafim =l &) foreht woree w1 D& ot o IveTa fohelt o
IR R sme R, S sk AT e g -

@@@. @@

TR ORIHAE :

(A)
(B)
©
D)

LV, IV, ILII
LOLIV,V, I
L%, LIV, 11

LIV, V,IIL I

A student after observing a slide showing different stages of binary fission

in Amoeba draws the following diagrams. However these diagrams are not

In proper sequence :

@@.C@ @®

The correct sequence is :

(A)
(B)
©
D)

I, V, IV, IIL I
LILIV,V, I
IV, L, IV, II
LIV, V, 1L II
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408'®

*ftee o gerer <t wifsha % fore wet e g - 1

L

11.

IIL.
Iv.
(A)
(B)
©
(D)

g Togerr o foreft fomly s s &

fug e 2 wafa et § faie 2 § e = igw e
T B A R

forehT™ @ gore B & I gepet U =1 gt o e B :
ST <hiS et TUqenrr & goreh & STra & o o8 T St o S R |

L II9III

I, IS IV
L IVaI

IV, 1911

Select the correct statements for the process of budding in yeast :

L

11,

I1I.

IV.

(A)
(B)
©
(D)

A bud arises from a particular region on a parent body.

A parent cell divides into two daughter cells, here the parental

identity is lost.

Before detaching from the parent body a bud may form another bud.

A bud when detaches from the parent body grows into a new

individual.

I, IT and IIT
IL, III and IV
III, IV and I

IV,Iand II

29 [P.T.O.
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40. UIEY TS N3t 3 I | TR T % Jevit o SATAR W el <hedt <h e
& forfrer froent a1 atearg hifo

I 3T Yl Yehehel qTeul § SHEY ST |

I eI o qun aier & UE Sgel § e SR |

M. e % U@ qoT See] & T Sl o Seey 3 & |

V. T shesh aon FEeel (STAEE ) S AW TTedl H §HEY 3T T |

77w s € -
(A) IaII

(B) TSIV
(C) 13l
(D) MIaIV

Study the different conclusions drawn by students of a class on the basis of

observations of preserved / available specimens of plants and animals.

L Potato and sweet potato are analogous organs in plants.
i Wings of insects and wings of birds are homologous organs in
; animals.

[II. Wings of insects and wings of bats are analogous organs in animals.

IV. Thoms of citrus and tendrils of cucurbita are analogous organs in
plants.

The correct conclusions are :
(A) Tandll

i (B) MandIV

‘ (C) IandIII
(D) MIandIV
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41. W@%%ﬁmﬁ@ﬁ&%ﬂtﬁnﬁ@%ﬁ@ﬁmw,%ﬁ,

I SIRTehaT, ST AT 3E0F & | 390 ¥ €1 owufa ug=nfe S goeia aarett 3
e fir et 2| 1
(A)  STTe] qT ZHT
(B) TSR Q9T THIX
(C) AT T Srhthal
(D) TSR T gl

You have potato, carrot, radish, sweet potato, tomato and ginger bought

from the market in your jute bag. Identify two vegetables to represent the

correct homologous structures.

(A)
(B)
©

(D)

31N

Potato and tomato
Carrot and tomato
Potato and sweet potato

Carrot and radish
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42. <TG * A, B YT C AR AT & 1

(A) WIS, FEATH ot sfiomsy
(B)  TollgR, Wig do s
(€) T, ST o g
(D) AL, ST a1 g

In the figure, the parts marked A, B and C are sequentially :

A

B C

(A)  Plumule, Radicle and Cotyledon
(B)  Radicle, Plumule and Cotyledon
(C)  Plumule, Cotyledon and Radicle

(D)  Radicle, Cotyledon and Plumule i
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